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QID: 401 nthe fo ow ng quest on, se ect the re ated word pa r from the g ven a ternat ves

Options:
1) Rce Food
Iad @q

2) Grey Coour
SEra i

3) Heat Sun
i

4) Snow Mounta ns
uda

Correct Answer: Heat Sun

Gl

QID:402 nthe fo ow ng quest on, se ect the re ated word from the g ven a ternat ves

Cactus : Plant: : Rice : ?
feffeauy ARy v el & @ wafdq g ot 9Tl

haed : dtyT: : I1Ge : ?
Options:

1) Basmat

g

2) Crop

el

3) Whte

g

4) Rab
Tft

Correct Answer: Crop
g

QID : 403 nthe fo ow ng quest on, se ect the re ated word from the g ven a ternat ves
Pink : Colour : : Eagle : ?

Feff@auy ARy g foeal 7 & §afda &g &t g=g|
TR AT ?

Options:
1) Back
Caxcl

2) Symbo
RE

3) Brd
geft

4) Sky
3iTch A

Correct Answer: B rd
geft
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QID : 404 nthe fo ow ng quest on, se ect the re ated etter pa r from the g ven a ternat ves

Options:
1) EAT YUN

2) EAT XXM
3) FAT LMV

4) EAT ZXC

Correct Answer: EAT YUN

QID : 405 nthe fo ow ng quest on, se ect the re ated etters from the g ven a ternat ves
LERI : PJVN : : MONT : ?

Feff@auy Ry g el 3 @ wafda siert &t ggl

LERI: PJVN : : MONT : ?

Options:

1) WRTY

2) QTRY

3) RTY

4) RQYB

Correct Answer: QTRY

QID : 406 nthe fo ow ng quest on, se ect the re ated etters from the g ven a ternat ves
SAT : WEX:: MET :?
FeffEaun ARy g ol 7 @ wafda sieri &t gg)

SAT : WEX :: MET : ?

Options:
1) AQ

2) YX
3) FHY

4) QX

Correct Answer: Q X

QID: 407 nthe fo ow ng quest on, se ect the re ated number from the g ven a ternat ves
43:7::23:?

fFaffRa ua ARy ¢ e & § wafda a=a & gfgl

43:7::23:7?

Options:

1) 6

2) 4

3) 7

4) 5

Correct Answer: 5

QID: 408 nthe fo ow ng quest on, se ect the re ated number from the g ven a ternat ves
38:53::53:?
Feffeaun ARy g foedl 7 4 wafda a@& & ghgl

38:53::53:?
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Options:
1) 72

2) 68
3) 79
4) 87

Correct Answer: 68

QID: 409 nthefo ow ng quest on, se ect the re ated number from the g ven a ternat ves
9:81::11:?
FeffEaun ARy g ol 7 4 wafda a@& & ghgl

9:81::11:?
Options:
1) 78

2) 93
3) 121

4) 146

Correct Answer: 121

QID:410 nthefo ow ng quest on, se ect the odd word from the g ven a ternat ves

Feffea uy Ry g fowmedl § @ v g &t gl
Options:

1) Gogge

I

2) Purse

of

3) Accessor es
qg g g Wil

4) Bet

L

Correct Answer: Accessor es
g gk g wift

QID:411 nthe fo ow ng quest on, se ect the odd word from the g ven a ternat ves

frffea ur ARy g foeed & 9 fwm g &t gfgl
Options:

1) Grapes

S

2) Guava

HHES

3) Cau flower

T Toft
4) Orange
TR

Correct Answer: Cau flower

G Toft

QID:412 nthe fo ow ng quest on, se ect the odd word from the g ven a ternat ves

fafifea ua ARy ¢ faced & 9 v g &t gfgl
Options:

1) Sparrow

fafsa

2) Rat
T
3) Ostrch

Sl
4) Parrot
da

Correct Answer: Rat

T

QID: 413 nthefo ow ng quest on, se ect the odd etters from the g ven a ternat ves

fFefafeaun Ry g faered & @ fawm sreri @t gfg)

3 www.jkchrome.com www.jkchrome.com www.jkchrome.com



4 www.jkchrome.com www.jkchrome.com www.jkchrome.com

Options:
1) GCXTO
2) KGBXS
3) RN EX
4) QMHDY

Correct Answer: No Correct Answer ( Benefittoa )

QID: 414 nthefo ow ng queston, se ect the odd etters from the g ven a ternat ves

FefafEaun A Ry g faehed 7 § fawm s1eri &t gihg)
Options:

1) SOKG

2) AWSO

3) RNJF

4) CYTP

Correct Answer: CYTP

QID: 415 nthefo ow ng quest on, se ect the odd etters from the g ven a ternat ves

Fefafeaun Ry g faded 3 @ fawm sreri &t gl
Options:

1) KNQ

2) DGJ

3) WzB

4) TWZ

Correct Answer: WZB

QID: 416 nthefo ow ng queston, se ect the odd number from the g ven a ternat ves

feaffeauy ARy v el 4 @ fvw g @ gfgl

Options:

1) 7-11

2) 12-16

3) 14-18

4) 9-15

Correct Answer: No Correct Answer ( Benefittoa )

QID:417 nthe fo ow ng quest on, se ect the odd number from the g ven a ternat ves

frefifRa un ARy ¢ feed § @ fovw g &t gfwl

Options:

1) 2-4

2) 3-9

3) 4-18

4) 5-25

Correct Answer: 4 — 18

QID: 418 nthefo ow ng quest on, se ect the odd number pa r from the g ven a ternat ves

fFefaf@aun Ry g foedl § @ foww g g @ &t ggl
Options:

1) 76 - 42

2) 92-20

3) 73-21

4) 93-27

Correct Answer: 92 — 20

QID : 419 Arrange the g ven words n the sequence n wh ch they occur n the d ct onary

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed

frfafad el &t sreaentsr & = @ & o & orgE < ford|

1. Flagrant
2. Flavour
3. Flatter
4. Flick

5. Flawed
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Options:
1) 13254
2) 31254
3) 23541

4) 32541

Correct Answer: 13254

QID : 420 Accord ng to d ct onary, wh ch of the fo ow ng wordw come at THIRD pos t on?
1. Heritage

2. Helpful

3. Hectic

4. Heroic

5. Heroism

TG & AR, T A aR ¥ s f R IR ?

1. Heritage
2. Helpful
3. Hectic
4. Heroic
5. Heroism

Options:
1) Hectc
2) Her tage
3) Heroc
4) He pfu

Correct Answer: Her tage

QID : 421 From the g ven a ternat ves, accord ng to d ct onary, wh ch word w come at LAST pos t on?

Ry ¢ facedl & 9, gl & ogu 3, A ¥ U dfAm W I W ?

Options:

1) Juven e

2) Justfy

3) Judge

4) Justce

Correct Answer: Juven e

QID: 422 Aseres sgvenw thoneterm mssng Se ect the correct a ternat ve from the g ven ones thatw comp ete the ser es
EM,T,?2,HO0

e SgehA e T 8, O @ va ve g 81 Rg. ¢ fened A § ag 98t faeeu gy, St 8rehd @l O R

EM,T,?2,HO0

Options:

1) B

2)C

3) A

4D

Correct Answer: A

QID: 423 Aseres sgvenw thonetermmssng Se ectthe correct a ternat ve from the g ven ones thatw comp ete the ser es
ROK, LIE, FCY, ZWS, ?
ThogpA e I 8 R dga vegqu 81 Ry ¢ feedl § § ag 98! faeeu gg, St srgehd &l 7 a1

ROK, LIE, FCY, ZWS, ?
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Options:
1) LAQ
2) SRV
3) TQM

4) FMQ

Correct Answer: TQM

QID: 424 Aseres sgvenw thoneterm mssng Se ect the correct a ternat ve from the g ven ones thatw comp ete the ser es
FAQ, LGW, RMC, ?, DYO
Th AR g g Rei S e vequ 81 Ry ¢ el # & a5 98! feed g, S sigeh ol @ a1

FAQ, LGW, RMC, ?, DYO
Options:
1) VR

2) XS
3) LS
4 Ms

Correct Answer: XS

QID: 425 nthefo ow ng quest on, se ect the m ss ng number from the g ven a ternat ves
14,22, 49,113, 238, ?
frfifRa un ARy ¢ fReedl § & g o 7 a RISl

14, 22, 49,113, 238, ?
Options:

Correct Answer: 454

QID:426 nthefo ow ng quest on, se ect the m ss ng number from the g ven a ternat ves
42,21,21,31.5,63,?
faffeauy ARy v el & @ g o 7 a HifSgl

42,21,21,31.5,63,?
Options:

1) 169 75

2) 1575

3) 1525

4) 12675

Correct Answer: 157 5

QID: 427 nthe fo ow ng queston, se ect the m ss ng number from the g ven a ternat ves
14, 44,135, 409, 1232, ?

Fefafea un d Ry ¢ ol & @ gt o/ 1 @ SifSgl

14, 44,135, 409, 1232, ?
Options:
1) 2962
2) 3340
3) 3702
4) 3406

Correct Answer: 3702

QID: 428 E ssttngbetweenD andA, B stotherghtof A C s atone of the ends and C and D are s tt ng next to each other Who s s tt ng th rd?

EDIRAGHTSS & B AFIENMRE C UG RRMENMCHARDTAE TR F T TH IS 8| AR W AR BH 5 §7?
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Options:
1) D
2) A
3)B
4) E

Correct Answer: E

QID : 429 Show ng a photograph of a marr ed coup e B sa d that the gent eman n t was h s father's father and A sa d that the ady n t was her mother How s A
re ated to B?

Ueh A AR STe F Hict i@ A gT B A &g foh 390 Sl Goo 6 330 fUd Hfid A iRAA T fr e s e g ag Iwhi 7 o1 A, B 9 o e aafda &2

Options:

1) A s B's mother's s ster
AB®HH HTgTE

2) A sB'ssster

ABH TS

3) A sB'sFather's s ster
A B& g Hregag

4) A sB's mother
AB&HH§

Correct Answer: A s B's Father's s ster
AB&fid Hragagd

QID : 430 From the g ven a ternat ve words se ect the word wh ch cannot be formed us ng the etters of the g ven word
MERCANTILE

FrfofRd fehedl § 4 g8 g gRU S Ry Trme & aeRi & vdl e T a1 F & e

MERCANTILE

Options:

1) truce

2) earn

3) trace

4) cam

Correct Answer: truce

QID: 431 fOLYMPUS s coded as MUJWKNSQ, then how w TEN be coded as?

Tfd OLYMPUS &} shls § MUWKNSQ forg sTd § Y TEN Rt sls Ao ford ™2

Options:
1) RCL

2) GVM
3) SDM
4) UFO

Correct Answer: RCL

QID:432 nacertancode anguage, 1875 means 'wound the round watch', 6143 means 'a cake s round' and 7321 means 'watch a round whee ' F nd the code for
'watch'

fordt fRfSa e ww #1875 & 312 & 'wound the round watch', 6143 & 312 & 'a cake s round' 3R 7321 & 31f & 'watch a round whee 'l 'watch' & foIQ e I I &R

Options:
1)1

2)8
3) 5
4 7

Correct Answer: 7

7 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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QID : 433 nacertancode anguage, '+ represents "', ' represents 'x, 'x' represents '+' and '+' represents '+ F nd out the answer to the fo ow ng quest on
96x4+125+25-5="?
frftfRfgaale vy §'+, 'wiveRlaed g, X B ueRid &a § 'x, '+ & uelRid xa & ofR '+, '+ &l velRia axa gl Fefif@a uy e SRI T2

96x4+125+25-5=7?
Options:

1) 23

2) 24

3) 50

4) 8

Correct Answer: 24

QID:434 f17$22=4and56$ 13 =7,then find the vaue of 71 $25="2

afd17$22=43R56$13=7,a171$25=2F AT dH?
Options:

1) 56

2) 96

3) 1

4) 8

Correct Answer: 1

QID:435 fA$Bmeans A ssonofB, A#Bmeans A s brother of Band f A* B means A s father of B, then what does X # Y * Z $ W mean?

IEA$BF FIEfFABT T A#BF ISfEfFABTH HEEMRARA*BF IfEfFABT A SAX#Y*Z$WTF | afg?

Options:

1) W s X's brother's w fe
W, XFaH ah g

2) W sX'swfe

W, X Hroeft &

3) W s X's mother

W, X&r A

4) W s X's s ster

W, X Fr g &

Correct Answer: W s X's brother's w fe
W, XFasH TR g

QID : 436

Select the missing number from the given responses

fér g et 3 & o e g

4
2 7 10
? 12

Options:
1) 3

2) 9
3) 3
a4 1

Correct Answer: 11

QID : 437 Wh ch of the fo ow ng terms fo ows the trend of the g ven st?
00XXXXX, OXOXXXX, OXXOXXX, OXXXO0XX, OXXXXOX,
AR dd g el ot gat & e & Irga e 8?

OOXXXXX, OXOXXXX, OXXOXXX, OXXXOXX, OXXXXOX,

8 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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Options:
1) XOXXXXO

2) XOXXXOX
3) OXXXOXX

4) OXXXXXO

Correct Answer: OXXXXXO

QID: 438 A scent st s study ng the behav our of an ant The ant p cks food and wa ks 5 cm North, then t turns to ts r ght and wa ks for another 11 cm then tturns
r ght and wa ks 3 cm, then t turns West and wa ks 15 cm, then fina y tturns to ts eft and wa ks 2 cm Where s the ant now w th respect to ts start ng po nt?

Ueh 331 [es fifedl & caag 3% e e 36 &1 el @ A 36 I 5 YIHIeR IR ol 3R Terd! & 3R R 78 & f ok goam 11 IR 9ot 81 R a8 47 & ot sk g 3
Férfiex Terht & 3R R I8 ufgm &Y ofk g 15 SR Taelt 81 97 # I8 310 9 3 SfR T & 9k 2 HEiex Tawet g1 et o ot o e fefa S &g &2
Options:

1) 4 cm East

48R gd

2) 26 cm West

26

3) 4 cm West

4 G ez ufgw

4) 26 cm East

26

Correct Answer: 4 cm West

4 Féiez ufgm

QID : 439 Two footba p ayers start runn ng from the same po nt on the ground P ayer A runs 10 km East, then turnsto h's eft and runs 13 km nthe meanwh e
P ayer B runs 6 km South, then he runs 3 km East, the he turns to h s eft and runs 19 km Where s P ayer A w th respect to P ayer B?

% ed o e 82 9 & Uen &) fofg @ dled g §1 e € A, 10 fonefisfier gd & sk e & ofik fhe @ € sk geo 13 fhcitfier diga 81 3¢ wwa faa € B, 6 faretivieR
aferor i ok Tera & JU iR 3 fheiiter gd it oiR Tt & ofk R ool 9 € ik e 19 iR disa 81 R B F T AR A g &2

Options:

1) 7 km West

7 foreneiex ufgym

2) 7 km East

7 feretieiex

3) 13 km East
13 freiteiiex ud
4) 13 km West
13 fopetiviex ufgm

Correct Answer: 7 km East
7 fretifiex

QID : 440 nthe quest on two statements are g ven, fo owed by two conc us ons, and You have to cons der the statements to be true even f t seems to be at
var ance from common y known facts You have to dec de wh ch of the g ven conc us ons, f any, fo ows from the g ven statements

Statement I: Some chapters are phys cs
Statement Il: A sc ence s physcs

Conclusion I: A sc ence s chapters
Conclusion Il: Some phys cs s sc ence

mHAN FE A FERTd on’ s ok A d & smumlAaa AP AN P T IR I T A =9d T d a2 & {97 uclia gid &1 sruet Fvfa e MRy ¢
i dd e d /e A g Fud s g 98 e & & dovd &/9hd &, i &S 811

&Y |: TS 3727 g Hifah §
FYF |1 Tt g 7 iR @

e I: ;ft R 7 orem g &
sk 11: go fifad g 78
Options:

1) Onyconcuson fo ows

2) Onyconcuson fo ows

e e

3) Bothconcusons and fo ow

4) Netherconcuson norconcuson fo ows

T P wg 8 & P

Correct Answer: Ony concuson fo ows

9 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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QID : 441 nthe quest on three statements are g ven, fo owed by three concusons, , and  You have to cons der the statements to be true even f t seems to be
at var ance from common y known facts You have to dec de wh ch of the g ven conc us ons, f any, fo ows from the g ven statements

Statement I: A success sV ctory
Statement Il: A uck s success
Statement Ill: Some hard work s uck

Conclusion I: Some success s hard work
Conclusion IIl: Some hard work s v ctory
Conclusion Ill: No v ctory s uck

ARy dERgher daferd , ok fFPead dgomuata gfF i s g g g ag g =ua 7 d ol § f99 udid gia gl smuant fAvfg e g Ry ©
g d e g /aR S AT o Fu g3 Tt A d ST Tod &/9%d &, T wis 8l

HYA | 9t Thera fasa @
FYT Il Tt 1 T ghea &
FUTI: FBAETIT a8

fAsnef |: & Tthela Agd @
e 11: T AgTa awhera @
st 11 A s o 7= @

Options:
1) Onyconcusons and fo ow
BG

2) Onyconcusons and fo ow
Shael frsepy SR W& @

3) Onyconcusons and fo ow
Fad fAwpy ofk T

4) A concusons, and fo ow
i ARy |, SR

Correct Answer: Ony concusons and fo ow

et e o @1 @
QID : 442
Which of the following cube in the answer

figure cannot be made based on the unfolded
cube in the question figure?

frferRae SR aTrepfer & & el AT O fSq g 7oy
3TTPFT = Gl T I FAT T&] oIl FDIT?

)
+IX [ O X

10 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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Options:
1)

N

2 & & &

w

)

Correct Answer:

&0

11 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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QID : 443
Which of the following answer figure patterns
can be combined to make the question figure?
fraferRed ST smpfy § & @i & wicredt &t
e T TQ w8 ATHY BT FRT AT el §7

Options:

1)

2)

3)

4

Correct Answer:

12 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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QID : 444

In the following figure, square represents
Professors, triangle represents Social
Workers, circle represents Dieticians
and rectangle represents Men. Which
set of letters represents Dieticians who
are not men?

FrferRaa fom o o, ditverf ot wefdfo awar
g witerer @bt 1 vefiia a8, 99 SRR
&t aiiv simad gl ot wefia v 8 sl o1 B

g 7 SR P wEfdf awar
2 it gy 71 &7
J
Pa
KN
D
Options:
1) EFG
2) BDKHJ
3) GAC
4) DEJ

Correct Answer: EFG

QID : 445
Which of the following Venn diagrams represents the
relationship between Butterflies, Animals and Insects ?

Fp=IfeTRed 7 & @i |1 3 o feraforal, SaRt 3R et
& dfer ey gerier 87

13 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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Options:
1)

©

2

3)

4)

@D & 00

Correct Answer:

©

QID : 446

www.jkchrome.com

Which answer figure will complete the pattern in the

question figure?

frrferRad o & BiF-dt ST= Ry Y mpfr & ufied

I g HYf?

14 www.jkchrome.com
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Options:
1)

2)

3)

4)

Correct Answer:

QID : 447

From the given answer figures, select the one in which
the question figure is hidden/embedded.

<1 Tft SR el # A3 aMepfr Y g o wa
iy fAfee 81

15 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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Options:
1)

/
N

2)

3)

4)

Correct Answer:

QID : 448

A piece of paper is folded and punched as
shown below in the question figures. From the
given answer figures, indicate how it will appear
when opened.

T8 TP 3 fRITT TR BT Bl AgHR T
&G R T FIek & J1G I8 [ IR STTHIel ST
ferarg <

16 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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Options:
1)

dolL
O O
WOP

2)

3)

00"{)
O O
N

4)

O=0

IR

O = O

Correct Answer:

209
O O
S Cp

QID : 449

If a mirror is placed on the line MN, then which
of the answer figures is the right image of the

given figure?
afe Ter gdor el MIN 3T 0¥ 3T 910 af &) =it ST

STRpTerI # & BI-2T 3TRpIT T4 AT T el
mfifae 8rf?

2,

17 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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Options:
1)

2)

3)

4)

Z, N [7) N

Correct Answer:

4

)

18 www.jkchrome.com www.jkchrome.com www.jkchrome.com
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QID : 450

A word is represented by only one set of numbers as given in any one of the
alternatives. The sets of numbers given in the alternatives are represented
by two classes of alphabets as shown in the given two matrices. The
columns and rows of Matrix-| are numbered from 0 to 4 and that of Matrix-1I
are numbered from 5 to 9. A letter from these matrices can be represented
first by its row and next by its column, for example 'C' can be represented by
43, 41 etc and 'O’ can be represented by 97, 78 ete. Similarly, you have to
identify the set for the word "SPAN".

U 95 thae UF TEI-TE ST ST T B, O 6 e S A et e
T T 81 et & Ry T HE-EE araRt i a1 i e sui T &, S s Ry
T &7 ST H B STE-| & TP 31 Gfeh BT W1 0 31 4 3R AegE-I B 5 A 9
Bl 37 TEE! ¥ U6 318 B Tge! Swehl it 3N &8 # W= ST @RI S9 T o
T &1 IIER 3 670 'C° T 43, 41 7T G S0 7 Tepell & e Q" Y 97,
78 37T T Sefa ST e 81 53 e 3 St vy Ry o 'SPAN' o

HHE & BT )
Matrix | - ] Matrin |l g1

] 1 z 3 4 5 6 7 5 q
0 " X M i E 5 1 y a u 5
1 A ¥ 1 | A | B it 5 T u N
] F 1 M | E |7 5 z X o v
3 I 1 A L kK || 8 X 5 P W 3
4 o c A [3 L [ e u X 7] v ¥

Options:

1) 66,87,33,56
2) 59,78,42,31
3) 86,89,32,55

4) 78,43,22,98
Correct Answer: 86,89,32,55

QID: 451 Pre m nary expenses are the examp es of

o e g & 3Ig OB

Options:

1) Capta expend ture
oot d &

2) Capta gan

oot gd W

3) revenue expend ture

3 ST g

4) deferred revenue expend ture
wf gy

Correct Answer: Cap ta expend ture

gSit d g

QID : 452 Wh ch econom ¢ act v ty cannot be nc uded n the tert ary sector?

Jfraes &7 § w9 W enffer fafafd o e €l Hr & gawcht?

Options:

1) Workng naca centre
FAGR H ok F wA

2) Tuton occupat on
SR T d

3) Bee keep ng

AYFREr g dF

4) Bank ng

Eicy

Correct Answer: Bee keep ng
AYATE U

QID : 453 Wh ch of the fo ow ng statement s true for the Pub ¢ Sector Un t?

AT 8 @ AR g o g duife 85a 3o § & g gt 82
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Options:
1) Most of assets s owned by a group of peop e

e TuRTufdi s @Aa @ TraggFuasd &

2) Most of assets s owned by b g compan es
o1 aReufE ot wufat & @ ¥

3) Most of assets s owned by government
31 o uREufg Wed@Aa A gdi s

4) Most of assets s owned by an nd v dua
31fdes T IRIUT Th A F U gl &

Correct Answer: Most of assets s owned by government

e 1 gRTuft Ta S @ R d gdi @

QID : 454 The percentage of nd a's popu at on n the tota popu at on of the wor d as per 2011 census s

2011 &HTSH UF o IIH X A Id I Seed sy ol S Y fohae ufaerd 82

Options:
1) 17 5%
2) 1801%
3) 1935%
4) 20 25%

Correct Answer: 17 5%

QID : 455 Wh ch of the fo ow ng five year p an of nd a recogn zed human deve opment as the core of deve opment efforts?

fafafea § @ g v @i raaffa aivm Aot e aas mai s aid sudaqa e aa g =T &2
Options:

1) E ghth five year p an

TS TIaNT At

2) N nth five year p an

it oraedffa gt

3) Tenth five year p an

Tgd! geata g

4) Eeventh five year p an

g
Correct Answer: E ghth five year p an

KICERECh R RIS

QID : 456 Wh ch of the fo ow ng th nker s assoc ated w th "the concept of po tca sovere gnty"?

9 @ o I 3 X Sfde UoER Y Gohed ” @ TEfdd 82

Options:

1) Mac ver
TR

2) Socrates

gd

3) Rousseau

4) Pato
et

Correct Answer: Rousseau

QID : 457 Who sad, "A good c t zen makes a good state and a bad ¢ t zen makes a bad state"?

RO g ¥, TH 3D 7 RATH B I IAd AHRPT 7 RA TG R I 8?2
Options:

1) Pato

et

2) Arstote

FRE]
3) G B Shaw
St er

4) Rousseau

Correct Answer: Ar stot e

R

QID : 458 Panchayat Samt atthebock eve n nda sa/an

o 3T B T o TR R It 09 ad IRfa g, I
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Options:

1) Adv sory Body

ThadghIfFe T

2) Coord nat ng Authorty ony
A T fdeReor

3) Superv sory Author ty ony

haet gddeft o e

4) Adm n strat ve Author ty

yeT G e U freReor

Correct Answer: Adm n strat ve Author ty

71 Gfes o e

QID : 459 Accord ngto nd an Const tut on, who dec des the sa ary of members of Par ament?

o T Ay 7 & g 2, 99 & 9ed| h da & (A0 i v &7

Options:
1‘) Un on Counc of M n sters

2) Par ament

qaq

3) Supreme Court

I T I g

4) Pres dentof nda

I & Ipufa

Correct Answer: Par ament
qdq

QID: 460 Wh ch one of the fo ow ng s not correct y matched?

T d e e v ad g 78 &2
Options:
1) E ghth Schedu e Languages
SRS SRR
2) Second Schedu e Form of Oath of office
AUY Y FY
3) Fourth Schedue A ocat on of seats n Rajya Sabha
Aeft o TSIy AW A F SraeA
4) Tenth Schedu e Defect on re ated prov s ons

Ol oggel & Ted wadt g ay

Correct Answer: Second Schedu e Form of Oath of office

o erggel Uy U Ey

QID : 461 When d d the Ch nese trave er 'Sung Yun' come to nd a?

hafig gFaEaRTemE 9?
Options:

1) 510 AD

5108

2) 518 AD

518%

3) 525AD

525%

4) 528 AD

528%

Correct Answer: 518 AD
518%

QID:462 Wh ch among the fo ow ng state 'Odantpur ' educat on center was s tuated?

Seagd g Fs el d @ fraysa # safea o [
Options:

1) Benga

g d

2) Gujarat

SRa

3) Bhar

IEERS

4) Tam Nadu
GIECE RS

Correct Answer: B har

[ERRS

QID : 463 Who was the founder of Bahman K ngdom?

TEHN G T ST & I Uh i g ?
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Options:

1) Hasan Gangu
T

2) Froz Shah
SR

3) Mahmud Gawan
we 9

4) Asaf Khan
SEh @ 7

Correct Answer: Hasan Gangu
g

QID : 464 Dur ng whoserue n ndaddthe Kh afat movement beg n?

o7 3 H fohdeh A1 T & 919 ' Rl T SITaIe TR T o ?
Options:

1) Lord Mountbatten

dEH

2) Lord Da hous e

o € SAgrelt

3) Lord Che msford

A S TGS

4) Lord Curzon

€ ot

Correct Answer: Lord Che msford
ag

QID : 465 Who among the fo ow ng was the founder of the Arya Mah a Samaj n the eary 1880s?

1880 o 31k & U T F IR Afged T9 & il @ U g9 @ fopeat h?
Options:

1) Swam Dayananda Saraswat

@ i &g e et

2) Swam V vekananada

@t fads a<

3) Ramaba Ranade

HIEIAS

4) Pand ta Ramaba

ufed e

Correct Answer: Pand ta Ramaba

ufed was

QID : 466 Dasht e KavrDesert s ocated n wh ch country?

%2d T & foR meeet fora 3 A A &2

Options:

1) ran

KA

2) Saud Arab
TRl 3RT

3) raq

R h

4) Sudan
gs T

Correct Answer: ran
RT

QID : 467 Wh ch of the fo ow ng ayers s ca ed "Barysphere"?

fafafEa 7 9 frg i=d &t "SRR g 51 &2

Options:

1) Earth's most nterna ayer

et Y FEH IR R

2) Earth's ntermed ate ayer

gedt i Aegadf w=a

3) Earth's topmost ayer

qeft T gaE JT IR

4) Lowest part of the atmosphere where ¢ mate changes occur

agHsA & T Araw o W5 HeH uRadd g &

Correct Answer: Earth's most nterna ayer

gedt i g TR TR

QID: 468 The BueN erver or g nates from wh ch of the fo ow ng akes?

& et 7t Ffafea 7 & fr sfiia & fererdt 82
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Options:
1) Lake V ctora
e e

2) Lake Tana
ad

3) Lake Edward
Teas gt

4) Lake A bert
3w giet

Correct Answer: Lake Tana
aT e

QID : 469 Wh ch of the fo ow ng states of nd a has the argest percentage of geograph ca area under forest as per the report of the Forest survey of nd a?

A 31 a1 Feror Y RUIE & Srga I W 3d & Ffafea 7 4 fra 3y 7 off Yo & & @9 o ufasd a7 85782

Options:
1) Man pur
HfOgR

2) Megha aya
ke
3) Mzoram

4) Naga and
T dve

Correct Answer: M zoram

QID : 470 At wh ch of the fo ow ng towns the A aknanda and the Bhag rath comb nes to form R ver Ganga?

fefofEa T A4 o< @y Retag Aaam a&hsadig?

Options:

1) Har dwar
BRg 2

2) Rshkesh
Ffdahar

3) Rudraprayag
daug

4) Devprayag
awa

Correct Answer: Devprayag

QID : 471 'Nrvana Fund' was set up by NSDC for financ a he p to

TS g Fa sy firoa H g g ad e Tdagd o

Options:

1) Entrepreneurs from the bottom rungs of soc ety

9 & & e ffw & safaal

2) D sp aced Kashmr Pand ts

ey O ey ufeat

3) Odage peop e hav ng no means of ve hood

&t TR Sifdes & i g e gl @

4) Ventures of se ected cand dates tra ned under PMKVY but d d not get any job
& o/ T Tafa ofk niifea Ifea PR A A 37 e

Correct Answer: Ventures of se ected cand dates tra ned under PMKVY but d d not get any job
& 319 T Tgfa iR ufAfeid Sefiea : TR AL As Il A

QID : 472 Naku Swasthya Patra’ s a scheme by the Government for wh ch among the fo ow ng purposes?

ffafea 7 8 ford gl gff & g WA RAIG T P @RI U T dloH Y&l § 87

Options:

1) We ness of anma's

ugeii & @ A Al @I A g

2) We ness of an ma owners

gy 7 fornl & @ g Al @9 A g

3) Tak ng care of actat ng mother nthe rura areas

g AT g A AadiAd i F @ Ra @I dagg
4) Tak ng care of newborn bab es n the rura areas

7 i &5 # gt 7 fAgei & @ wF hi i@ A g

Correct Answer: We nessof anmas

ULt o T W i T@H A 8

QID : 473 Wh ch m ne of nd awas n the news recent y for becom ng the country's first ron ore m ne to have a so ar p ant for reduc ng carbon footpr nt?

7 30 Y B W We T & I Feflic FF A & g TR 907 6 W uF A g o 301 H guH g 3Res @< 7 g & % 01§ A g B gfad 817
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Options:

1) Tacharmne
EEEECEE]

2) Koraput m ne
R d @ T

3) Noamund m ne
FremIet @g 7

4) Ratnagr mne
wfdwea

Correct Answer: Noamund m ne

Fremie @e T

QID : 474 Wherew the Summer O ymp cs be he d n 2028?

saes o anfes 9 2028 A ohg SIS fohg 1T 2

Options:
1) Sydney
et

2) Pars
BlissH

3) Los Ange es
a9 oo
4) Copenhagen
CAErAC

Correct Answer: Los Ange es
a9

QID : 475 Wh ch country has won the 2017 Dav s Cup Tenn s Tournament?

3faw sy 2w ga'de 2017 R S A sfia 82

Options:
1) Swtzerand

2) Serba
i

3) France
wy

4) Be arus
Eokad

Correct Answer: France
Y

QID : 476 “You are Un que” s wr tten by

"7 IR gfAh" g folt g3
Options:

1) Dr A P J Abdu Kaam

T U U & sEgAHAT A

2) Khushwant S ngh

Tared g

3) Tas maNasrn

GRS EE N
4) Arvnd Ad ga
3RfE rf

Correct Answer: Dr A P J Abdu Kaam
s Ut S smgaAa A

QID: 477 Thethrd ndan Counc for Cutura Re at ons ( CCR) D st ngu shed ndo og st Award for the year 2017 was awarded to Japanese professor

g 2017 & fog FRR o1 Tt § Wpfae qay aRwg (v & 9 0) e 9 afdg @91 7 51 vt gt i 73

Options:

1) Hrosh Maru
Rt meg

2) Sh mamaru Maru
ot 7 & 7ed

3) Nagasak Maru
I g HEs

4) Toyota Maru
e 7Es

Correct Answer: H rosh Maru

Rsh g

QID : 478 Wh ch of the fo ow ng ¢ ty has became first nd an c ty to get UNESCO's wor d her tage c ty tag?
AR it e T IR A RAYRITAIRF ¢ TA@FRATA YT S USRS T §?
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Options:
1) Japur

SR

2) Ahmedabad

AT

3) Gandh Nagar
Gk

4) A ahabad

ESEE)

Correct Answer: Ahmedabad
IEHC TG

QID : 479 nJune 2017, wh ch of the fo ow ng countr es have s gned a protoco of co operat on n the fie d of arch ve?

2017 ¥, FAfaf@a A & e i 7 sifveie IF @ A dgal o foIg Uah Hidhar @ R 6 &R fahg 82

Options:

1) ndaand srae

9 Id dY IR 3A

2) nd aand Portuga
JAT qd

3) nd aand Nether and
RG] !

4) ndaand ran
YITdAY R

Correct Answer: nd a and Portuga
AT Gd

QID: 480 ndahas s gned an agreement to provde USD 318 m onas ne of cred t for deve op ng ra way sector of wh ch of the fo ow ng country?

fFafofea 3 3 g 3 ol v 39 3 30 89 & A T & forg 318 fferme sk s R i thfse & 571 it T 9a A & o v gwsia g &2

Options:

1) Bang adesh
q A2

2) Nepa

Jud

3) Chna
CiE

4) Sr Lanka
i

Correct Answer: Sr Lanka

QID : 481 Dot Matr x s a type of
s T AR & YhUH I3l

Options:
1) Tape
Fie)

2) Dsk
e

3) Prnter
iz

4) Bus
9

Correct Answer: Pr nter

QID : 482 The secondary storage dev ces can on y store data but they cannot perform

&ires TUgUT IURRTT chael § € TR s Hehd & URg 98 T8l R Ghd g1

Options:
1) Arthmet c operat ons
3 fOrdg o &

2) Log c operat ons

q fhep uRa o=
3) Fetch operat ons
o

4) A optons are correct

oY faerey Tl 81

Correct Answer: A opt ons are correct

g} faereT Tl 81

QID : 483 nthe modern per od ¢ tab e meta s, meta o ds and non meta s are found n wh ch b ock?

Yk smad N AU g Iuu g ay Ay A a s Aud = a §?
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Options:
1) s Bock
sSsilh

2) p bock
p s &
3) dbock
dsd e
4) fbock
feleh

Correct Answer: p b ock
p&idh

QID : 484 C nnabar s ore of wh ch of the fo ow ng?

e dd RA a3 fhaes sras 82

Options:

1) Magnes um
& e

2) Aumnum

3) Mercury
U3

4) ron

Correct Answer: Mercury
ux

QID: 485 n wh ch of the fo ow ng mrror s ze of mage formed s a ways equa to the s ze of object?

feafadd s dgdud ufoe & smrigay eI aragd &2

Options:

1) Convex m rror
IIe &guT

2) Concave m rror
3qdel

3) P ane m rror

o gdor

4) Both convex and concave m rror
It GUUT Y Sraae UUT gt

Correct Answer: P ane m rror
THAA gUOT

QID : 486 Mass of a hydrogen atom s how many t me the mass of an e ectron?

Th §IQIoH A Y[ & A A G SAGE A h g A fohad 7 8d 82
Options:
1) 1000
2) 8000
3) 1837

4) 5000

Correct Answer: 1837

QID : 487 Wh ch of the fo ow ng are Fabr cs that may conta n po yester?

Po ycot
Po ywoo
Terrycot

fafofea 8 9 9 3 wusi § v «fiteex 8 god 82

7 faeex
q E
Hepc

Options:

1) Ony and

Shad aJ

2) Ony and
GE)

3) Ony and

Shad  dg

4) A , and

, dax oft
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Correct Answer: A , and
, dax oft

QID : 488 Wh ch of the fo ow ng term does NOT represent e ectr ca power ncrcut?

T A a8 e fea aRuy # faga afth &t e =@ @ ?
Options:
1) 2R

2) R?

3)V

4) V/R

Correct Answer: R2

QID : 489 A postvey charged part c e projected towards west s deflected towards north by a magnet c fie d What s the d rect on of magnet c fie d?

Tffyw &t SR 7t &l o= Afa o fRelt goehia 8 g3 SR AT SR RA@fa g T a 81 goeha e & fewr &1 &7

Options:
1) toward south
Fr iR

2) toward east
qd &l $R

3) downward
sreftagt

4) upward

Correct Answer: upward

QID : 490 Wh ch of the fo ow ng s NOT pos t ve y charged?

FfefEa § @ o o= 3fa 78 87
Options:

1) Aphapartce

3t hUT

2) Proton

e T

3) He um nuc eus
giferaw 1 f9e

4) E ectron

AT A

Correct Answer: E ectron

EQETe |

QID: 491 Whch s awatersoubeVtamn?

FA 9 e T Sa & gemehia 82

Options:
1) VtamnA
e A
2) VtamnC
fefmc
3) VtamnD
e =D
4) VtamnK
fae K

Correct Answer: Vtamn C
fmc
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QID : 492
Match the items given in column (A) with those in
column (B).
Column-A Column-B
I. Frog 1. Skin
ll. Leaves 2. Stomata
lll. Earthworm 3. Lungs and skin

Y (F) # P 7 el & W (@) & Wy

RIS
HH-F HH -
. JASH 1. &=
. ufeEr 2 T4
I, dgam 3. BW FUT c@=r
Options:
1) 3, 2 1
2) 1, 2, 3
3 3 1, 2
4 2,1, 3

Correct Answer: 3, 2, 1

QID : 493 How many number of chambers are there n human heart?

7 79 gag | defl g foha gt 82

Options:
1) Two
a

2) Three
Gis!

3) Four
EKd

4) Fve
ug

Correct Answer: Four
B

QID : 494 Wh ch of the fo ow ng s NOT present n a matured stomata?

e g% 3 | Fefofea @ an g suf@aadigla &2

Options:
1) P asmodesma

2) Chorop ast
3) Ce wa
Hifes faf

4) Vacuo e

Correct Answer: P asmodesma

QID: 495 What s/are the cause(s) of ar se hypermetrop a?
A g v o /& o & o1 8/?
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Options:
1) Excess ve curvature of the eye ens
AT A il achd & AR g |
2) Eongat on of the eye ba
& A g |
3) Foca ength of the eye ens stoo ong
S G il hiehd gt & 1A g |
4) Noopton s correct

13 faehed wEl 781 81

Correct Answer: Foca ength of the eye ens stoo ong

AT AT R wRT gh & SHfH g |

QID:496 Antb otcs are usefu for wh ch type of nfect ons?

s s X & TehAT & foly TéI aifees of g Ik giet 87
Options:

1) Ony bactera

hae Sitg 7]

2) Onyvrus

Fad faw 7

3) Both bacter a and v rus
Shta oy faw gyt

4) Ne ther bacter a nor v rus
Tt St oA g faw g

Correct Answer: On y bacter a

q

QID : 497 Wh ch one of the fo ow ng s NOT respons b e for water shortage?

T dd PR T & @ 5T fi v F fog SwRe Fr T8 @2

Options:
1) Rap d growth of ndustr es
aite Yoo & i

2) ncreas ng popu at on
ol ST
3) Forestat on

4) M smanagement of water resources
ST 99 o & e

Correct Answer: Forestat on

QID : 498 Wh ch gas s major contr butor to greenhouse effect?

G T aRa guw I d ged il At g T A 22

Options:

1) Carbon d ox de

& I € Z3iTe 38

2) Ch oroflurocarbon

3) Su phurdoxde
T S 33ife g8
4) N trogen d ox de
9 321 S 33119 38

Correct Answer: Carbon d ox de
& & S 33iTaT 38

QID : 499 Wh ch of the fo ow ng s NOT a major prob em n deve opment of resources?

FefafEa d G e ¥ o+ & 9o 9 8 7= 999 T81 82

Options:

1) Dep et on of resources for sat sfy ng the greed of few nd v dua s
S AThal & /& @ TG 99 O & § 4l

2) Accumu at on of resources n few hands

Fo Afhdl g U H 99 o=l & 9Id|

3) Anequ tab e d str but on of resources

TR THAH T IT ddcav |

4) nd scr m nate exp o tat on of resources

9 el & 31y g Ayor|

Correct Answer: An equ tab e d str but on of resources
Oyl TS A a9 deead |

QID : 500 Wh ch of the fo ow ng s NOT man made ecosystem?
frfafea # g = g 7 79 fffa o RRfad aa a8 &2
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Options:
1) Orchards
3T T

2) Home aquar um
ASTER

3) Botan ca gardens
ERRIDREED

4) Grass and

gg%$ Be

Correct Answer: Grass and
g9 & B

QID : 501 The number of nks () wh ch srequ red to form a k nemat c cha n can be expressed n term of the number of pars (p) as

ol T O () ST Qe [ oieh o &l o191 7 o folq STt & I7hl SiTgl &l 9% (p) & T A sH UG X for@ & 9ahd ©

Options:

1) =2p4
2) =2p3
3) =2p2
4) =2p5

Correct Answer: =2p 4

QID : 502

What is the total number of links and joints in the mechanism as
shown in the figure?

3MeTa & TG@r 10 &7 & @R od! 3R S5t 1 e wear
FATE?

7

Options:
1) 3and 3
33k3

2) 3and2
38R 2

3) 4and 3
43R 3

4) 4and 4
43R4

Correct Answer: 4 and 4

43R4

QID : 503

What is the degree of freedom of the mechanism shown below?

A & EEd a0 g3 AT Tadeag Fife F47 87
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Options:

1)1

2) 2

3) 3

4) 4

Correct Answer: 2

QID : 504 The graph of turn ng moment d agram s drawn between

ga Yol ARE@ & U & FaaTd g |

Options:
1) crank ang e and crank rad us
then BT

2) crank ang e and crank effort

Shen ST O ther 1T §

3) crank effort and crank ang e

then w1 G ofR Sheh

4) crank rad us and crank ang e

then ST iR cheh et

Correct Answer: crank effort and crank ang e

theh U T 3fR Theh T

www.jkchrome.com

QID : 505 The mass of flywhee of a steam eng ne s 3250 kg w th the rad us of gyrat on of 1 m The start ng torque of the engne s 4500 N m What s the angu ar

acce erat on (rad/s?) of the flywhee ?

Th I UEeH & U oich Ieh o gem 7 1 & ofR gl sy 3250 kg &1 591 & [waret &t gof 4500N m 1 0 &7k ek & hiofg @Ror (rad/s2) o 82

Options:
1) 34

2) 2
3) 248
4) 138

Correct Answer: 1 38

QID:506 Apu ey s drven by a flat be t and the max mum tens on produced nthe bet sof 1400 N The be t has the dens ty of 1000 kg/m?3, 100 mm w de and 5

mm th ck What s the speed (m/sec) of the be t for the max mum power?

e Ot goae dee g % Tl oY of i & 3R dee # Seu e arfreha® a1 @ 1400N & See & &viwa 1000 kg/m3, 100 mm =€t 3R 5 mm A& & arfdrehw aifch & g aee &t far

(m/sec) & 8?2
Options:

1) 32

2) 31

3) 3055

4) 305

Correct Answer: 30 55

QID : 507 The rotary nterna combust on eng ne s the nvers on of

quff saRes g 3o & IhATT 2
Options:

1) four bar nkchan

TR folep A

2) doub e s dercrank chan

S & g heh O

3) snges der crank mechan sm
Yohel Tl 3SR Theh o

4) Rocker crank mechan sm

T e thep I

Correct Answer: s nges der crank mechan sm
Uehel & 3% gheh I

QID : 508 The pressure d str but on n the un form wear theory s

Tk & 7 e & g 9§ g9 g Rz gl

Options:

1) drecty proport ona to rad us

e & g g fas

2) drecty proport ona to the square of rad us
Fa &Y U o

3) nversey proport ona to rad us

g & egder gy e

4) nverse y proport ona to the square of rad us

& q " oh HAHH AT
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Correct Answer: nverse y proport ona to rad us

s & gdern oy fe

QID : 509 When the frcton nng s new, the wear var es

S U7 R Y g, a9 B g I TCA & |

Options:
1) drectytoradus
a1 g &

2) nverseytoradus

g & Gopr

3) drecty to the square of rad us
4 fsg &g

4) nverse y to the square of rad us
g & a "o g

Correct Answer: d rect y to rad us
&

QID:510 What stherad a d stance of a tooth from the p tch c rc e to the top of the tooth known as?

e & d Y T ek & e 3T SR adh i arefer It gt ;1 gt ofY €2

Options:
1) Dedendum
ST

2) Addendum

3) Ptchcrcedameter
faawag

4) Modu e

Correct Answer: Addendum

QID:511 Wh ch of the fo ow ng statement s TRUE about the contact rat 0?

A a9 FU UG U d IR T AT &?

Options:

1) Varesdrecty tothe ength of the arc of contact
Guh & gd T Hl o § & 9 o ) WY FU J ggerd §
2) nversey proport ona to the modu e

& A I

3) nversey proport ona to the c rcu ar p tch

R U= & gashA ey fae
4) A optons are correct
goft 4

Correct Answer: A opt ons are correct

gt ey gl &

QID:512 Wh ch of the fo ow ng s the type of pendu um governor?

A s g dde aR® UhE?

Options:

1) Hartne governor
8

2) Proe governor

3) Porter governor
Ui TR

4) Watt governor
gz TR

Correct Answer: Watt governor
gz TR

QID : 513 Wh ch of the fo ow ng governors does not have centra oad attached to the r s eeves?

fadafra RS ug oo it d Hdla 9 ! Tl 82

Options:
1) Porter governor

2) Watt governor
gz TR
3) Proe governor

4) None of these
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Correct Answer: Watt governor
gz TR

QID: 514 Whatw be the vert ca he ght (m) of a watt governor, f the speed of rotat on s 80 rpm?

grguA A fA80rpmedtac aR A FerITE (M) = 8 72

Options:
1) 14

2) 114
3) 014
4) 011

Correct Answer: 0 14

QID: 515 Wh ch of the fo ow ng term defines the s ze of the cam?

A @ PR T <reg 9 F o X o aRy Rd w=a &2

Options:

1) Basecrce

SICEEE)

2) Prmecrce
EESCR]

3) Ptchcrce

o gt

4) P tch curve

U= sk

Correct Answer: Basecrce
CICREE)

QID:516 What term s used for the comb ned effect of a the forces on a body?

UHRRROf gt F agmu aF g fra e & ot fovg 19 82

Options:
1) Load
I3

2) Stress
PInCE]
3) Stran

4) None of these

TH A FE TS

Correct Answer: Load
Y

QID : 517 Wh ch of the fo ow ng oad does not act on the cons derab e ength of the beam?

frAddang yydfmHhiaaswraga T 82

Options:
1) Unformy d str buted
T AFTY faadia

2) Trangu ar
[Ecaniv
3) Pont

4) Un formy vary ng
THAETYH

Correct Answer: Po nt

QID : 518 Wh ch term states the S un t of stress?

I T ufdea ArS  gHe §?
Options:

1) kN/mm

2) N/mm?

3) N/mm3

4) m3/sec

Correct Answer: N/mm?

QID : 519 Max mum shear stress theory was postu ated by

SRR STEUTT ufded Rig @ g3 & @
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Options:

1) ST Venant
g d<

2) Mohr
HIER

3) Rank ne
fera

4) Tresca

Correct Answer: Tresca

QID: 520 The equ va ent ength of the co umn when both the ends are fixed s

ST R T 2y off Ty i Iged e € gl
Options:

1) 1

2) 1/2

3) 1/4

42

Correct Answer: 1/2

QID : 521 The s enderness rat o of the coumns s

Wl & WSy ey d gl

Options:

1) drecty proport ona to the effect ve ength

T ot 7 § & T e R

2) drecty proport ona to the east rad us of gyrat on

R & <gAaH fagefa sy & did sru faw

3) drecty proport ona to the square of effect ve ength

g A ISR T H A orgu fw

4) drecty proport ona to the square of east rad us of gyrat on
=AaH fagefa s &3 * & e sru s

Correct Answer: d rect y proport ona to the effect ve ength

g ot o € & T U faem

QID : 522 Rank ne theory s app cab e to the

frfRga R B
Options:

1) Short strut/co umn

oY 3AThS/ T

2) Long co umn

R &

3) Both short and ong co umn
g @Y SR e @@

4) None of these
EEEEIEE]

Correct Answer: Both short and ong co umn
T g SR TR T

QID : 523 Wh ch of the fo ow ng.assumpt ons s INCORRECT about the ong co umn?

fEddaRdia =g o TS g I8 Tea 87

Options:

1) The co umn behaves e astca y

T U T It g TR &

2) The oad acts perfecty ax a and passes through the centro d of the co umn sect on
R Re efios Faed gofRTogy FFsH AT SRA &

3) The we ght of the co umn s neg ected

I & g JUTed &

4) The matera s non homogeneous and an sotrop ¢

g mft " O A7 ok v §

Correct Answer: The mater a s non homogeneous and an sotrop ¢

gt "R ot ofk faweR e §

QID: 524 What s the max mum shear stress on the wa of athncy nder, f t has ad ameter of d, th ckness of t and the gauge pressure nthe cy nder sp?

U gaet Rdier it fa ¥ R sifderan souvr ufdset a1 gt , 91 139% A9 d 8, t hi e $ ok Reiex d "Sggapd?

34 www.jkchrome.com www.jkchrome.com www.jkchrome.com



35 www.jkchrome.com www.jkchrome.com www.jkchrome.com

Options:
1)
pd
t

2)
pd
4t

3)
pd
2t

4)
pd
8t

Correct Answer:
pd
at

QID : 525 What sthe vo umetr c stran nthe th ncy nder subjected to nterna pressure hav ng hoop stress of 200 MPa, modu us of e ast c ty, E=200 GPa and
po ssons rat 0=0 25?

Tat Ridier & smaa fagpfa o & o T uRefia ufdeel 200MPa, T @ 7 U &, E=200GPa 3R 1iga= gy 9=0 25 87

Options:

1) 20/1000
2) 2/1000
3) 02/1000
4) 002/1000

Correct Answer: 2/1000

QID : 526 The property of the mater a to regan ts or g na shape after deformat on when the externa forces are removed s

Seggldad Aecdgaa e UTREh g RS I I qa NMHIAIGR TS 6 T8 g

Options:

1) pastcty
[RRIGE

2) eastcty
U ¥Id

3) durab ty
W Hag

4) None of these
d

Correct Answer: e ast c ty
U ¥Id

QID : 527 The correct shear force d agram for the cant ever beam w th un formy d str buted oad over the who e ength of the beam s

STileieh &R ol G &1 § IR O A &0 § [FaRa 913 & fog et siueuss s sm@ 8
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Options:
1)

X

Correct Answer:

V

X

www.jkchrome.com

QID : 528 Wh ch of the fo ow ng s the CORRECT bend ng moment d agram for the cant ever beam carry ng un formy vary ng oad from zero at free and w/un t

ength at the fixed end?

SiIiIeten & & oI |gt 9o STgUf IRE & & SE 398 o o/l U fqaRa wid g ok fous au@as Rty @ @R &R dw/unt @
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Options:
1)
Mx

r » X

|

|
2)
M

i N
> X
3)
MX
> X
4)
M" A
> X
Correct Answer:
M
A
> X

QID : 529 Arod of d mens on 20 mm x 20 mm s carry ng an ax a tens e oad of 10 kN The tens e stress deve oped s

20mmx20mm 37 & &Y Teh A6 10 kN &Y Tep sieflg i s A @ & fARa a7 ufdser =

Options:

1) 0025 MPa
2) 025MPa
3) 25 MPa

4) 250 MPa

Correct Answer: 25 MPa

QID: 530 Wh ch sthe CORRECT opt on for the po ar moment of nert a of the so d shaft?
3 21 7 T YT Siea gui & forg Tt firea @ 82
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Options:

1)

Je E 4
64

2)

o g
32

Correct Answer:

g Eogh
32

QID:531 ThetrpepontonaPVdagram s

PV R R e fiig g
Options:

1) a ne

T &

2) apont

g forg

3) atrange

g Bt

4) not present

Correct Answer: a ne
T @

QID : 532 Wh ch of the fo ow ng statement re ated to entropy s TRUE?

T s A T Y WWRT R T FyAIT§?

Options:

1)p M n mum entropy s observed when the system s nequ brum w th the surround ng
FAM G R T A S R T M T F I I T ey |

2) At abso ute zero temperature, the so d so ut ons have non zero entropy

T LA T TR 3 O hI G i "I 8

3) Substance nso d phase has the east entropy

B W1 A ug f & gaaA g O gt B

4) Entropy conservat on takes pace na rrevers b e processes

Qg Ut TRefor @+t sruRed-ig ufehg o A gld &

Correct Answer: Substance n so d phase has the east entropy

3G =ROT & U7 o Y g geg o gt g

QID : 533 fthe COP of Carnot refr gerator s 4, then the therma effic ency of the Carnot eng ne wou d be

3 T A APSRER & COP 4 &, dl & e goi ohl I 2ard g1

Options:
1) 033

2) 025
3)02
4)018

Correct Answer: 0 2

QID : 534 Wh e work ng between temperatures 150 K and 300 K, the entropy change exper enced by the Carnot eng ne dur ng heat add t on s 1 kJ/K, the work
produced (kJ) by the engne s

ST 150K R 300K AF o Tlc o d T A &, At 3 A G FRAF Fe To g Tt Adead d 1kJ/k g, A g & & & (kJ) fohaw gt 2
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Options:
1) 100

2) 150
3) 300

4) 600

Correct Answer: 150

QID : 535 A heat eng ne work ng between the source at 200°C and rejects heat at 25°C rece ves 5 kW of heat Work done for th s eng ne s equa to 0 kW Does th s
sat sfy the nequa ty of C aus us?

ThFH 5 200°C FHATRFART MR 25 CRIH T Hd &, MR SkWFH U hd &1 5T 5o & T fhag T 0 kW F SRR & | o9 I8 o1 FR{gg &Y o gq 1d
Pl TgE I 87

Options:

1) Yes

i

2) No

T

3) Cannot be determ ned
fRaRa Ei fba &1 goa
4) None of these

T § &iE T

Correct Answer: Yes

B

QID:536 An dea gas w th heat capactyratoof 2 sused nan dea Otto cyc e wh ch operates between m n mum and max mum temperatures of 200 K and 1800
K What s the compress on rat o of the cyc e for max mum work output?

dlmyRa 23 omesf "ud A amast et T A R 79 &9 200 K 3R 1800 K *Aaw SR sifddhan d ua A dh o ga fora gt @ &1 sifdran v A Iu g & g ash &
quite U a A 87

Options:

115

2) 2

3)3

4) 4

Correct Answer: 3

QID:537 nanOttocyce ar scompressed from 3 tresto2 4 tres from a start ng pressure of 1 5 kg/cm? The net output per cyc e s 400 kJ What s the mean
effect ve pressure (kPa) of the cyc e?

ek 3 Teh F 1 5 kg/cm? & 9@k ca g @ ga 3 eliex @ 2 4 ofiex Teh TR &) o ot &1 Uy <75k et 30 & 400 KJ 81 Y 7 &1 w1 ft g 7 (kPa) 77 82

Options:
1) 500
2) 567
3) 667
4) 700

Correct Answer: 667

QID : 538 The combust on nacompresson gntonengne s

Teh JUTg Sarer or & BRI &

Options:
1) heterogeneous

2) homogeneous
THEY

3) amnar

4) turbu ent
faagsyr
Correct Answer: heterogeneous

ot

QID:539 Whchreaton sthebassof Mo erD agram?

FT T Y IR SIR@ & MY IE?
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Options:
1)
" ahn
P |
" |\_8T .f'IIP
2)
I="a R
Cv _| TQ |
CT i
3)
c,—c=HR
4)
“ah
L= |
LY, CS_;P
Correct Answer:
“ah™
== |
L85 e

QID : 540 Wh ch of the fo ow ng formu a ho ds TRUE for dryness fract on?

A aH 9 g 9@ ud o & forg wel 87
Options:
1)

m,

m, +m,

2)
o
m, = m

3)
m, +m,

m,

4)
m, =i,
m

Correct Answer:

m,

m, +m;

QID:541 Whchgasw produce the h ghest effic ency nan dea Otto cyc e for same compress on rat 0?

FIF " F Uep et it ek § GH A GUISH U d o folg Iegad q&d & kg A R T?
Options:

1) Ar

8d

2) Carbon d ox de

% 51 S 3319 58

3) He um

giferaq

4) Oxygen
TR

Correct Answer: He um

QID:542 n Mo erdagram,the sotherm n the superheated reg on at ow pressures becomes

TR 3RE B, 7 & 9 R srfasfia &% & g9d v g gsd gl

Options:

1) d verge from one another
Qoh GER G 37t

2) hor zonta

3) para e
HHA R

4) vertca

kPicE)

Correct Answer: hor zonta
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QID : 543 f the heat rejected from the system s zero, then wh ch of the fo ow ng statementsw ho d TRUE?

F IV AVLIIH @ A S A F=ffead s s aas?

Options:

1) When net work s equa to the heat absorbed, work effic ency s 100%
9 Fel o F IH AT SR R & iR & F zard 100% &

2) Heat s exchanged from one heat reservorony

ISH Shad Yo &7 T T &1 371 7 UE T hl of T 8

3) tvoates Kevn P ank statement

g hica &I ~h hUA & IoeTo o

4) A optons are correct

gt Qe gl &

Correct Answer: A opt ons are correct
goft e

QID : 544 C aus us’ statement and Ke v n P anck’s statement are

FIRATT FU SR Hfed wWieh 2l

Options:
1)_not connected

2) two para e statements of the second aw
3 T =R we

3) voaton of one does not v o ates the other

Uh & IACTE GUR & IooTe gl ohed

4) fa se statements

T T

Correct Answer: two para e statements of the second aw

fadha fFam & @ g7 <R =

QID : 545 For the same heat added and the same compress on rat o,

TG S 3R gy guie 8y d & foig

Options:

1) Otto cyc e s more effic ent than d ese cyce
Ieh SioTel sk 9 AR Ty At &

2) Dese cyce s more effic ent than Otto cyc e
SISTeT %5 Sile! Ish § S g At §

3) Both D ese and Otto cyc e are equa y effic ent
AN THANIHTFTTI YT A

4) Cannot be determ ned
RaRa 781 frg &1 Fepat
Correct Answer: Otto cyc e s more effic ent than d ese cyc e

37} ek Stotet Tsh § 31fdes wey

QID : 546 Arevers b e eng ne operates between temperature Ty and T, The energy rejected by th s eng ne acts as an nput for another revers b e eng ne at
temperature T, wh ch rejects to a reservo r at temperature T3 What s the re at on between T4, Ty and T3?

THURIA ST AT| R Ty F T F T aed 81THTHGI A A AIA dWAT, RgR RIS RO FTe F FU A I aed &, NAI TG TA AT dhed &
SHAWMAT3WREI Ty, T 3R T3 & g wsra 1 87

Options:

1)

-0tk

2

Correct Answer: No Correct Answer ( Benefittoa )

QID : 547 Wh ch equat on defines the entha py (h) of a system?
FI T GHteReor et ot oft & quitsy (h) @t ofker g e 82
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Options:
1)
L 2Y
J
2)
gt
)
3)
L
Jpv
49
U+ Jdpv
Correct Answer:
b 2Y

QID : 548 Wh ch gas can atta n the h ghest effic ency for the same compress on r se?

FA W T T 7 = gdted giyg & g Iwaw qard U W o Gehd! 8?2

Options:

1) Any of the gases
ol g 9 foneft oft

2) D atom c gases
Goues g

3) Mono atom c gases
Qeh U Uk

4) Tr atom c gases

A ow v g

Correct Answer: Mono atom c gases
Teh A Uk

QID : 549 n C aus us theorem the revers b e path s subst tuted by

FIfaw vag § ufdecdf oy &t R Uy fua forg w1 a &1

Options:
1) reversb e sobars
TId U @

2) revers b e sotherms

uidad! T9d U 3@
3) revers b e sochorc
ufaadf Tematies

4) None of these
T8 § 1S el
Correct Answer: revers b e sotherms

ufdedf gaa g @

QID : 550 Wh ch of the re at on represents an rrevers b e and poss b e process?

HE G GIY Teh IRad-1g 3R T3 ufehy & ufaffda wa 82

Options:

1)

i
T

2)

(ﬁd—g >0
T

3)

(ﬁd_g =0
i
4) None of these

Correct Answer:

(j)d%gdl
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QID : 551 does not certantnasana oyngeement

Afaffasud e MyagaaTdig
Options:
1) Babb tt meta
EIECR S|
2) Wh te meta
qhe g g
3) Soder
Th
4) A optons are correct

g} freg Tl &

Correct Answer: A opt ons are correct

g} e Tl &

QID : 552 Under m croscope ferr te appears as

H ZhIehIY & ded the 3¢ 09 fewaa &

Options:
1) Whte
g

2) Lght
<
3) Dark
&
4) None of these

Correct Answer: No Correct Answer ( Benefittoa )

QID : 553 structure s obta ned by austemper ng process of heat treatment

TR 0T URiteE i ifRemR uftha 9 U o gt 81
Options:
1) Sorbte
WK
2) Bante
e
3) Martens te
Agse
4) Troost te
[
Correct Answer: Ba n te
CLEr

QID : 554 Preheatng sessenta nwedng

e AMER smaaw

Options:
1) h gh speed stee
da e

2) cast ron

e g

3) a non ferrous matera s
goft " <fig g A

4) None of these

& 9 g

Correct Answer: cast ron
e

QID : 555 The metngpo nt sthe owest for

fadafrasfoy megEaa g

Options:

1) ow carbon stee
FAFTAAT & 3T
2) h gh carbon stee
JAFHITAT & 3T
3) cast ron

Fed g

4) wrought ron

dsa/ &

Correct Answer: cast ron
Fed g

43 www.jkchrome.com www.jkchrome.com www.jkchrome.com



44 www.jkchrome.com www.jkchrome.com www.jkchrome.com

QID : 556 s common y used for mak ng househo d utens s
IMIR MR G IdT a9 7 & g 3wt g &7 a &
Options:
1) Duraumn
2) Hnda um
fEeforam
3) ya oy
yfsag
4) Magna um
& Afremy
Correct Answer: H nda um
3

QID : 557 Ba bear ngs are genera y made up of

FATR M IR RITATAITAE

Options:
1) carbon stee

& & Tt

2) carbon chrome stee
& I s

3) stan ess stee

A '

4) grey cast ron
T g

Correct Answer: carbon chrome stee

& S hiF K

QID : 558 has h gh tendency to get work hardened

# o 4 o) o e & e TR @l &

Options:
1) Lead
Gik]

2) Aumnum

3) Brass
aq
4) S ver
T

Correct Answer: Brass
a9

QID : 559 s the hardest known mater a

gEd HeR ST ad ug f &

Options:
1) Cemented carb de
dits Fa3e

2) Ceramc
3) D amond
ER

4) A oy stee
k)

Correct Answer: D amond

QID : 560 s obta ned by sotherma harden ng operat on

IMETIIHA § &4 STRF3TF g T fhg 51 &

Options:
1) Cement te
3
2) Sorb te
REC KT
3) Accu ar troost te
[
4) Bante
T

Correct Answer: Ac cu ar troost te

el g 3¢
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QID:561 Fud s a substance wh ch offers no res stance to change of

TRl U2 of 9 dcd & St 3T Iee O S Uiy S el a8

Options:

1) pressure
Eokct

2) flow
uas

3) shape
3Teh ¥

4) vo ume
M

Correct Answer: shape
3MTeh ¥

QID: 562 Dens ty of water s max mum at

I RUA & g AfAhaa gld &
Options:
1) 0°C

2) 0°K

3) 4°C

4) 100°C

Correct Answer: 4° C

QID : 563 A perfect gas

e ameef T

Options:

1) has constant v scos ty
SR Y Ad

2) has zero v scos ty
NERCEr]

3) s ncompressbe
neica)

4) None of these
EEEEIEE]

Correct Answer: None of these

QID:564 Aflud nequ brum cantsustan

T FRA T S A=A R & a7 78 @ qha

Options:

1) tens e stress

qad d9 9

2) compress ve stress
ShaTd

3) shear stress

SUEYUT d9 g

4) bend ng stress

FFARTAT

Correct Answer: shear stress

AUFYUT AT g

QID : 565 For manometer, a better qu d comb nat on s one hav ng

AefieR & forg, Uah gk aRet Ug of qate g § o

Options:

1) h gher surface tens on

g8 a1 g il gd &

2) ower surface tens on
USaTaRAEd &

3) surface tens on s no crteron
U8 a9 HI3 7 UGS 1ol &

4) hghdenstyandvscosty
31fes T ok foufea ge

Correct Answer: ower surface tens on
B dTaRAET &
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QID : 566 The resu tant upward pressure of the flu d on an mmersed body s ca ed

fFft g gt g R U d & uRur i Sl ca a g d &

Options:

1) upthrust

3?

2) buoyancy

It gehd

3) centre of pressure
ST q®H g

4) None of these
T ¥ Y

Correct Answer: buoyancy
I gepd

QID : 567

V = 0.0022¢t — ITB is the equation to determine kinematic

viscosity of liquids by

1.8

V=0.0022t—7wmmﬁé:@mawzﬁ
afds wEar Ui &+ & e

Options:
1) Redwood V scometer

Sge @ Aa AU

2) EngerV scometer

U eRg AT T oY

3) Saybo tunversa v scometer
Jatere gfadd & 99 7 dt

4) Newton V scometer

e g AT A Ut

Correct Answer: Saybo t un versa v scometer

Jalere giediel 97 d 7 oY

QID:568 Thecap aryrseat20 degree cesus naceangass tube of 1 mm bore conta n ng water s approx mate y

18 f aRF TR T E S T A T 0 g8 oo 7 20 Sf Sma m AR gfiga @ 8
Options:

1) 3mm

3 faeft

2) 5mm

5 fft

3) 10 mm

10 faef

4) 30 mm

30 fasft

Correct Answer: 30 mm
30 fasft

QID:569 Ther se or depress onof qud natube due to surface tens on w th ncrease n s ze of tube w

T FAFIA PG F T I AT AYE I RS | g T ST

Options:
1) ncrease
gige

2) rema n unaffected

e faa

3) may ncrease or decrease depend ng on the character st cs of qud
%2 & AfAceioT & SE I gfg T A & Fohd &

4) decrease

CLE)

Correct Answer: decrease
A gt

QID:570 nan sotherma atmosphere, the pressure

ol goa dio g grsaT &, a9 @
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Options:

1) decreases neary w th e evat on
ITEIFTYIRF T T AT &

2) rema ns constant

SR §

3) var es n the same way as the dens ty
T # aRad & 9 y uRafda gla &

4) ncreases exponenta y w th e evat on

FTEh G U TRI T h a0 § JiG Bt @

Correct Answer: var es n the same way as the dens ty

g B URadT & g g uRafda gid &

QID : 571
The magnitude of rise of pressure due to water hammer

in a rigid and non-elastic pipe carrying water of density p
and bulk modules k will be equal to

B saE A dvweaey S SEd waRe a9 e
U F O p & AR Ui AOE kE H Fomd F
FRUI g9 A B arelr gefdr w1 9fEm fras et g

A]v% Bl J/kp c] 8 D]%

Options:
1) AOny
Shaet A

2) BOny
haet B

3) COny
Fad C
4) DOny
%haer D

Correct Answer: No Correct Answer ( Benefittoa )

QID : 572 The flow of any flud, rea or dea, must fufi the fo ow ng

frdt g & wa g, @ Wider 7 s1medf, A=fif@d wl @ & &

Options:

1) Newton's aw of v scos ty

YT WAd & aH

2) Newton's second aw of v scos ty

YA ® W AT F 7

3) Ve oc ty at boundary must be zero re at ve to the boundary
49 w3 4\ Fgdea e I

4) the cont nu ty equat on

qgdda

Correct Answer: the cont nu ty equat on
g g Ffeneor

QID : 573 The most econom ca sect on of ¢ rcu ar channe for max mum d scharge s obta ned when (Where, d s the d ameter of ¢ rcu ar sect on)

Sfhar FdgT F RIg IR Fa & TR T TR TS T W B & 9e( 58, d IRuT @S & T I )

Options:
1) depth of water=095d
gHdr wE=095d

2) wetter per meter=26d
TetuRkf@=26d

3) hydrau ¢ mean depth=029d
gagiveAem wE=029d

4) Any one of these

T @ i off

Correct Answer: depth of water=095d
gH&H wE=095d

QID : 574 Borda’'s mouthp ece s

a9’ E qgAdAs
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Options:

1) ashortcy ndrca tube project ng nward, hav ng ength of % d ameter
Ueh g S o I R SIS i 3R nafid gt g8, fSieehl o s & g iy ameft 8
2) aconvergent tube hav ng ength of 2 — 3 d ameters

T AT d e e da g ahr2 - 38

3) most common y used

ARG RTA gHad

4) rarey used

wft wfi ot gRaa

Correct Answer: a short cy ndr ca tube project ng nward, hav ng ength of %2 d ameter

Teh 7Y S o X S 316X i TR TEUd gl g%, e @« § =0 @ it amef &

QID:575 Thecrtca veoctyas

wiiwma 3§

Options:
1) max mum atta nab e ve oc ty
e
2) termna ve octy
AT
3) ve oc ty when hydrau ¢ jump occurs
3 <19 g ggifoier g
4) ve oc ty above wh ch the flow ceases to be stream ned

3 O SR U § gHafd g9 e R ed o

Correct Answer: ve oc ty above wh ch the flow ceases to be stream ned
IR UG § gAIRAA B TE I T &

QID : 576
Reynolds number for non-circular cross section is:
[V = mean velocity
v = kinematic viscosity
P = Ratio of cross sectional area to the wetter perimeter]

-gaER Igurr-ai=te & v Wiesw wear
[V =3 a7

v="fde AT
P = Heoar-afi=tg 3T deT 9RfEr Fr g

LT

Options:
1) OnyA
thaet A
2) OnyB
%ad B
3) onycC
hael C

4) OnyD
&ae D

Correct Answer: Ony A
Fad A

QID : 577
In case of a two dimensional flow the components of

velocity are given by u = ax; v = by, the streamlines
will consist of a series of
ﬁmrﬂ’rm%mﬁﬁém#mu=ax;
v =by, Zawr R wm ¥,

Fr Sofr 7 enfAe Femw
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Options:
1) crcu ar arcs
gqaHIIY

2) parabo carcs
Iq

3) hyperbo carcs
SfARaa 9 a

4) e ptca arcs
Iq

Correct Answer: hyperbo c arcs
ag

QID : 578 Fr ct on factor of p pes depends on

U5U e qYUT Ut e # @ fhmR i e @

Options:

1) rate of flow
Tag R R

2) flud densty

T U o & o W

3) vscosty
FAd W

4) A optons are correct

g} fqreg Tl &

Correct Answer: A opt ons are correct

g} fqreg Tl &

QID : 579
Time of flow from one tank in which water level is h,to

another tank having level h., will be proportional to

Tw T e uel &1 w4 € 3EW gud &
S EH 9 & &1 4, & # vaIE & 5AT FEe
AT g

Alhy — h, Bl Vh, — h,
Clvhy — /b, DI 3% — n3"?

Options:
1) OnyA
Fad A

2) OnyB
%had B
3) onyC
%hael C

4) OnyD
Fad D

Correct Answer: Ony C
c

QID : 580 Wh ch of the fo ow ng represents steady un form flow?

e i daRdf v A g g ed &2

Options:

1) flow through an expand ng tube at an ncreas ng rate
s i@ d e R uasg

2) flow through an expand ng tube at constant rate
TR aEd R Aua g

3) flow through a ong p pe at decreas ng rate
THAITII e R A UG §

4) flow through a ong p pe at constant rate

(A TSU Y IR R AUTE

Correct Answer: flow through a ong p pe at constant rate
UhFASTIU Y IR R AUTE

QID : 581 Chezy's equat on s used to determ ne

it & gHfteoT & Iuat R RaRa s S g fra 51 &
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Options:

1) ve oc ty of flow n open channe
TGEATAAIGESR o

2) ve oc ty of flow np pe
USUAUGES

3) flow over wers

ASHIWUTE

4) d scharge through notch

=R A fFaE

Correct Answer: ve oc ty of flow n open channe

GEATAHITESR

QID : 582 B uff body s the body of such a shape that pressure drag as compared to fr ct on drag s

A o 2 Uoh O TR TR aig & o cg g ufor g drge |

Options:
1) same
i q

2) more

3) ess
i

4) zero
RS

Correct Answer: more

QID : 583 For best hydrau c rectangu ar cross sect on of an open channe, ts depth shou d be equa to

Ueh Gl ATl & Gad 372 § 3 foleh o & ¥ oryey uRese & folg, Iudht g 3 A & & fhadh sk R g+t 9 feg

Options:

1) wdth

EISH

2) two t mes the w dth
Hegd aF o

3) haf of the w dth
digsa amy

4) three e ghth of the w dth
He e I emea e

Correct Answer: ha f of the w dth
dRegH oy
QID : 584 The va ue of coeffic ent of ve oc ty for a sharp edged or fice s.of the order of

A aIReHd & e AT A e e a g

Options:
1) 045

2) 05

3) 062

4) None of these
EEEEIEE]

Correct Answer: None of these

QID : 585
The discharge over a sharp-edged rectangular notch of

width w depth 1 is equal to
%ﬁﬁ—ﬁﬁm?ﬁ?ﬁmﬁ?ﬁgﬁwgﬁ
TEUE h ¥ X EERer e et @

2 2
Al Caw/2g h5/2 Bl Cawy/2g h

2
Cl: Caw,[2g h¥/2 D] < Caw+/2g h3/2
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Options:
1) OnyA
Fad A

2) OnyB
%had B

3) onyC
%hael C
4) OnyD
Faet D

Correct Answer: Ony C

SHad C

QID: 586 Whena qu d rotates at constant angu ar ve oc ty about a vert ca ax s as ar g d body, the pressure

9 Uk & e eR AT & I U SR IR BIVIT T A TR hoR G h A A YA g, AT cd d

Options:
1) ncreases nearyas tsrada d stance

2) vares nversey as the attude aong any vertca ne
et SR T & argfey o9 § & Gord U [ w0 & aera @
3) var es as the square of the rad a d stance
Woa@Fa  Feudfaga sia &

4) decreases as the square of the rad a d stance

JTA A F T FEUAFAET od &

Correct Answer: var es as the square of the rad a d stance

Foa &g FEudfaea od &

QID : 587 The d scharge through a sem crcu arwer s proport ona

ues e aRuz A @ v fhad aa qufa @
Options:

1) H(1/2)

2) H(1/2)

3) H(3/2)

4) None of these

T @ HE T

Correct Answer: H (3/2)

QID : 588 The rate of change of moment of momentum represents the

Id  3TYUT o 9a g hI R G Al B

Options:

1) force exerted by flud

A g F g3 ORI 5

2) torque app ed by the flud
WRATE A g3 F ol

3) work done by the flu d

A Sg g g &y

4) power deve oped by the flu d
RATE f g3 AT For

Correct Answer: torque app ed by the flud
et ug of g ¥ ot goi

QID : 589 Separat on of flow occurs when pressure grad ent

Ud § % JUGRUT d9 8id & 916 & § HgUrd
Options:

1) tends to approach zero

A T SR UgEd &

2) becomes negat ve

FOHGB G T &

3) reduces to a va ue when vapor format on starts
I SAPEARATIIRIC ST &

4) None of these

T8 J oplg oft

Correct Answer: None of these

FHE
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QID : 590
The ratio of actual discharge to theoretical

discharge through an orifice is

T &g & Arcgw ¥ SEgies |Emor
3R Freafas FEmer & wgaa

Al C./ Dy Bl.Cy/C,
ClC,/Cqy DIEL,

Options:
1) OnyA
Fhae A

2) OnyB
%ad B

3) OnyC
haet C
4) OnyD
&ae D

Correct Answer: Ony D

Shad D

QID: 591 Coke s produced by

FIA & ITGTITH G 8 &
Options:
1) puverzngcoa n nert atmosphere
3 gd g d &R0 A A e el
2) heatngwood na mted suppy of ar at temperatures be ow 300°C
3009 S HAT UH AW ET Gl AT STYfef 7§ el l H A
3) strongy heat ng coa cont nuous y for about 48 hours n the absence of ar na c osed vesse
T Rl 48 I d Tk I Ucllell & g9 ohl HUfRART AT IITRS Y@ oA
4) b nd ng the pu ver zed coa nto br quettes
Fact &l §fE ek ke s 7

Correct Answer: strong y heat ng coa cont nuous y for about 48 hours nthe absence of ar nac osed vesse

P A 48 T Teh Ueh 9& Udieh § g9 Gl SIUMART A @ IISRG IBife. e

QID : 592 One kg of steam samp e conta ns 0 8 kg dry steam; t's dryness fracton s

T hel Hu T 08 fhy gt wu g &, 59 o A @

Options:

1) 02

2) 08

3)06

4) 05

Correct Answer: 0 8

QID: 593 At wh ch pressure ( n kg/cm?) the propert es of water and steam become dent ca

fragma (@& 7 /AR ) udieiRyud uagagisag

Options:
1) 01
2) 1

3) 100
4) 2256

Correct Answer: 225 6

QID : 594 Cochranbo er sa
PIRA § Tek Teh g
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Options:

1) hor zonta fire tube bo er
afast o g I TR

2) hor zonta water tube bo er
éfast o ft @ 9 IR

3) vert ca water tube bo er
FeF R U At FF T IR

4) vert ca fire tube bo er
e R TF T IR

Correct Answer: vert ca fire tube bo er
e R TF T TR

QID : 595 The d ameter of tubes for natura ¢ rcu at on bo er as compared to contro ed crcuatonbo ers s

Frafd aRE=RoT Faufs &l ga- # U Hide ao- qauf s &I el & ATE

Options:
1) more
3R

2) ess

&

3) same

ek

4) cou d be more or ess depend ng on other factors

3T & I R AR a=a g, s g su gt ghd &

Correct Answer: more

QID : 596 Supercharg ng s the process of

guza 5 ufeea &
Options:
1) supp y ng the ntake of an eng ne w th ar at a dens ty greater than the dens ty of the surround ng atmosphere
3T § & d aR0T o T § T 9Icd UR §oT ol §9 el Y[ A
2) prov d ng forced coo ngar
g AT
3) nject ng excess fue forra s ng more oad
31fdes 97 X 95 7 & g srafdes em sR &
4) supp y ng compressed a r to remove combust on products fu y
T§ 34 &l ol ) oRE & 8¢ A o fog wdifed ga <t g e
Correct Answer: supp y ng the ntake of an eng ne w th ar at a dens ty greater than the dens ty of the surround ng atmosphere
Y G & G q aROT o T I 31k T-ed TR T ol 89 Y YT e

QID : 597 The accumu at on of carbon nacy nderresuts n ncrease of

e & & & & qu g & uRul 7 wey e § § el afg gt @

Options:

1) cearance vo ume
T

2) vo umetr c effic ency

3179 Y qard

3) gntontme

Ul §HT

4) effect ve compress on rat o
g &t gt ergu @
Correct Answer: effect ve compress on rat o

g ft gt ergu @

QID : 598 Wh ch of the fo ow ng s a fa se statement? Excess quant t es of Su phur nd ese fue are object onab e because t may cause the fo ow ng

A A I AT FUT o §? SioTed 569 § ot ol STk B 3 3Tufioeh § aifeh 399 A & T ug g1 Gehd &

Options:

1) p stonrngand cy nder wear

e R ok R aw

2) format on of hard coat ng on p ston sk rts
e W WFSR A & g

3) o sudge nthe eng ne crank case

3O cheh v B A & TIoT

4) detonaton

Correct Answer: detonat on

QID: 599 nsta at on of supercharger on a four cyc e d ese eng ne canresut nthe fo ow ng percentage ncrease n power

TR Toh I X NoTet o1 B Guvd SR P W o & o ¥or A1f A Al ufdsa g g aendt &
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Options:

1) upto 25%

25% deh

2) upto 35%

35% den

3) upto 50%

50% deh

4) None of these

T 4 IS off

Correct Answer: None of these

79 A alg ot et

QID: 600 n order to prevent format on of carbon on the njector, the temperature (n °C) of nozz e t p shou d be

FIATFRF I H A TAFAF g, AT g s a1 (°F) g T fgw

Options:

1) essthan 100

100 & &9

2) between 100 - 250
100 - 250 F = A

3) between 250 - 300
250 - 300 H =g &

4) between 400 - 500
400 - 500 & = &

Correct Answer: between 250 — 300

250 - 300 Ff= &

54 www.jkchrome.com www.jkchrome.com www.jkchrome.com



"~ JKChrome

JK Chrome | Employment Portal

() Rated No.1 Job Application

of India &
Sarkari Naukri [
Private Jobs i ) [m—
Employment News Aboit Hilsapp
SAUE IS R oo e e
Notifications

News & Magazines

Rate this app
Tell ers what you t

ith hink

STUDY
MATERIAL

GET IT ON

» Google play

JK Chrome ) CIiCK here tO
Q 47/ DOWNLOAD

J

CHR jk chrome

www.jkchrome.com | Email : contact@jkchrome.com



https://play.google.com/store/apps/details?id=com.gbt.it.jobportal



